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Topic Name:Chemistry-Section A

ItemCode:101632
AIRYS RERY.Q 64II] Q] e |

1
(A) (@ n=31=1,m=1 M=+
1
(b) n=31=2, my=1 My =+ 2
1
(B) (ﬂ) n=3'l=2’ml=_21 mg =—E
1
() n=31=2,m=-1 m; =~
1
(C) (ﬂ) n=4:,l=2, ml=2’ mg =+E
() n=31=2,m=2 mg =+
Question: 2STEREAE, AR FPRER UG AEAQ R 641! 62683 -
A 6Re@ (A)
B ceeq (B)
C gaae (O)

P (B) e ()

Q:63
Topic Name:Chemistry-Section A



ItemCode:101633
QIR I q eimel II 496 dxie |

QIR I Qlmel 11

(A) [PtCl, >~ () spd
(B) BrFs () d2sp?
(&) PGl (II) dsp?
(D) [Co(NHy)sP* (IV) sp3d?

Qclea QLIRS Aag g A0R 2eRT] IS |

Question:

A (AR, (B)-(IV), (O)-(D), (D)-(II

)
)-(ID), (B)-(IV), (©)-(D), (D)-(L)

€ (A)-), B)-D), (O-1V), (D)-(II)
) )

Q:64
Topic Name:Chemistry-Section A

ItemCode:101634
AIFYISER Y@ goRal A

A(g) = B(g) + % C(g)

Fa0e daiw (K), Faee A8l (o) 99° AN SIU (p) G06R AU 6238 :

Question:
’ 3 3
a? p
K = -
(1+30)? 1-w
B 5 i
K_ 012 p}l
(2 4 a)E (t—e)
) (« p)?
o« p)?
K = -
(1+ 3a)? (1-0)
D 3
e (e p)?
1
(1+a)(1—a)?
Q:65

Topic Name:Chemistry-Section A



ItemCode:101635
Q6 96 9F GUIYIRR |

Q@ 1 : 6ONG PRER Q9 (RINDR) 62a8 AN Y° CRERERER 6AFIER @8 And ARdEm
QEE G2 909 ARGl ARG 6RARIT |

@3 I1: 2QQ9] 9IP FGQI dIQ NS REAEY,INIRG. TGN |

QUERIB @3 ARIRER AQOIQ RUYS ARG 7F] QY FIQ U |

Question:

A o0 @8 I 9e° @@ 11 01 |

¥ 200 a8 1w @ 11 g |

28 10Q 9e° 28 II 97 |
28 I gn 99° @8 11 0 |

Q:66
Topic Name:Chemistry-Section A

ItemCode:101636
Q6R A8 UQIned S2IKRS |

Na,O, As,0s, N,O, NO and Cl,0,

QR 2QNEAR A°EYl 6298 :

Question:
A

Bl
Ccl2
D|3

Q:67
Topic Name:Chemistry-Section A

ItemCode:101637
QIRR I q eIRel II 996 A |

QIR I Q@@ 11
(A) DIERAURG, () FeCO,
(B) QRARER (1) PbS
(C) 69RR! () ZnCO,
(D) deeqlas (IV) ZnS

Question: Q¢ 9e8 fag A0R @eeq QI |
A (AX(IV), (B)-(II), (C)-(II), (D)-(0)
P (AXIV), (B)-(D, (O)-(I1), (D)-(1ID)

© (A, (B)-(m), (O-1), (D)-(1V)



P (A)-(I), (B)-(IV), (C)-(I), (D)-(T)

Q:68
Topic Name:Chemistry-Section A

ItemCode:101638
2900 2REYIERRR VYR AEMITR ¢6 94 601 6¢1Aaa 6d1d@ F2IR AR ?

Question:

A Qe

B QIREQ1680R
2FERa

618

Q:69
Topic Name:Chemistry-Section A

ItemCode:101639
FRYe RBYER MRIG 6awE O ?

(A) Q@@ LiCl 99° MgCl, Q2I9Rsa Q414 |
(B) Li,O 9@° MgO 2@ ¢lgIa @alom 496 §4 gue 29Iae, &2 |
(C) MM FIQ IGF 6LQRRAFRE TR LiF 9R6a @F Q94I1a |
(D) MR AR G AUFRESAANFE 26AF Li,O FREQ 2R Q9619 |
Question: Q] 9o 9ag AIg A0 RIYe FWeE] QIS |
A (A) 9@° (C) 699%
B (A), (C) 9@° (D) 6@
C (B) 9@ (C) 6qo@

D (A) 9e° (D) 6@em

Q:70
Topic Name:Chemistry-Section A

ItemCode:101640
B,H, 29260 Q2IQIngel @8 gFe fkig A0) @3¢ QI8 |

(A) B,H, 6@ Q7Y QRGER AAQRY |

(B) B,H, 6@ QI6QIT 3-600-2-06RQ, 7 @F &8 |

(C) B,H, 4@ qad 2,

(D) @@ BF, 99° NaBH, § B,H, 9°6§8¢ @Idia dIae |
(E) B,H, 9@ A76@1a 24 |

Q¢ doa 99 kg A90Iq RUYS 200q Qg |

Question:

A 6aeR (A) 99° (E)



B gae@ (B), (C) 9e° (E)
C eae@ (C) ¥e° (D)

D gaee (C) e’ (E)

Q:71
Topic Name:Chemistry-Section A

ItemCode:101641
FRESIERAR ALQ TR CINLINREG, C2RE

Question:

A NF,
B NCl,
C NBr,

D NI,

Q:72
Topic Name:Chemistry-Section A

ItemCode:101642
QeR AREIF6R FIRYE IE 6°uG 1R ARRIER G ?

Question:
A Ca2t
B p3+

C F—
D|-p5+

Q:73
Topic Name:Chemistry-Section A

ItemCode:101643
QR gogal Agensa e @gle ‘'C’ 6298 :

HNO, Br, alcoholic
CsHio H,S0, At B korn > C

Question:

D NO,



Q:74
Topic Name:Chemistry-Section A

ItemCode:101644
Q@ 1 : 49 RI9R-CaI¢ 2RI ARINIERIRAR 1AeR dRris JARea O/ ol AU @nl on 134

0Ig, 26AIGE 2R |
@@ II: A6RIRI6AIFRR 136 JPRa FR6a QAdIZE! 6AINIR 928 A 86 F6a |
Question: QOQ QQQG‘@_ Qg |

A qe0 @8 I 9 @8 11 0R |

Q00 @8 I 9e° @@ II ga |
@8 10a 99° @@ 11 9f |
@8 1 9n 99° @8 11 0q |

Q:75
Topic Name:Chemistry-Section A

ItemCode:101645
QAU FRIG 6RLG 19 FRPETEER PINRETINR AL ?

Question:
A O @)

CHj;—C - CH,—CH, - CH, - C—CHj

Q:76
Topic Name:Chemistry-Section A



ItemCode: 101646

OCHj,

(i) NaCN

(i) OH™ i

(iif) Cyclohexanone g Major Product
(iv) Hyp, Ni

Br
QUERI JORAIQ oY QUL 6298 :

Question:

A OCH,

NH,

Aoy

B OCH,

HO NH,

Fo-

c OCHj

C—NH,

o



D OCH,

HO
NH,

Q:77
Topic Name:Chemistry-Section A

ItemCode:101647
PORYS I 6RNE IR INRTAR ALAE ?

Question:

A QIGIGINR-RRR-ERARAR

B saqifiae aaae
¢ Qede

P i B-216QIRR16606-Co-B-2IR6QIFURERS,

Q:78
Topic Name:Chemistry-Section A

ItemCode:101648

e RAIRIRIRE ‘X | 393 K 9e° 2-3 atm QI9 gegisl @8 mg H,S0, 996 geiasm Y @9 |
6990 Y’ 626in @R 80 UG JERAR 9Te Y | X 6Q 6997 B-qINAITER AT AR |
Question: 61 X' 6208 :

A A

B eadnienla,

C AIRERIRN.

D AIReRIcaRER

Q:79
Topic Name:Chemistry-Section A

ItemCode:101649
FAYE PG 6RRE IR QR 6IRST JO6RAR Q68 ?

Question:

A @ueRIniede

B aiddde

C -
6egIqIda

D caddfe &

Q:80
Topic Name:Chemistry-Section A



ItemCode:101650
IR 121 2 AR ARAIGINR FegE8 ANLER AR (X) @ AREa AL ARd6 Jaaem

4R 9RR AR ALEAT @ | RUFE 2ERAR (X) 9e° QIGIR (2T) JAUREE CARURE :

Question:

A gledadngeaga ue° Ni2+

B glefadagieads 9e° Co?t

¢ 6rqned u@eda 9e° Hg2*

P craned dfade ue® Ni2+

Q:81
Topic Name:Chemistry-Section B

ItemCode:101651
6dlF@ X @ 9e1g9@@ hep NS F0Q @08 Y9° 6284 671Re Y 6061628 g0y (R9Q) Q

2 as ” - - <
3 QM RAB | PINER & 66l@R X Q 9909 (%) 62Q8 | (aeed q_ﬁl@’%‘l‘ll)

Question:

Q:82
Topic Name:Chemistry-Section B

ItemCode:101652
205 (g) = 30, (g)

300 K 66 3691Q 9919 9696 Qa86 29 | AIeR (9 98 a6eas 1@ QIaaIgl ¥9° 1 atm QIU6R
6268 (—) Jmol~1 | (Feceq geaeel)

(@8 : In1.35=0.3 and R=83 ] K~ mol—1)

Question:

Q:83
Topic Name:Chemistry-Section B

ItemCode:101653
QB8a AIdad @19 300 K 66 6208 747 bar | 9@ S J0l on 6oR Qexlw 2IcFdd aiQ

2l Q@ 996 A9 ARQARS (2IREAICTHR) 6291 GRRIQ | JERIR. 9EQ AIRel gL~! 6 62a8
|

(deRIeg 671RIQ @3¢ =180 g mol ~!

R=0.083 L bar K~ ! mol~!) (Raceqa gdasay)

Question:

Q:84
Topic Name:Chemistry-Section B

ItemCode:101654
G¢) 9889 Pt [Hy(g)[H* (aq)|| Cu2 +(0.01 M)|Cu(s) Qi@ 6019 G99 298 K 6@ 6208 0.576 V | 4@

AclY @8 pH 6298 | (Feeen geaesl)

(@@: E° ,, =034V and Z20RT _506v)
cu?t/C F

. u
Question:

Q:85



Topic Name:Chemistry-Section B
ItemCode:101655

deInGeInes Y9ee dIR 2IRdaIT] 700 —1000 K 989a fri6q AdIdIald | 1@ eauq B6gad

- = 3 = = v~ = =
@dIae In k @dFex £ ol 6MGIPY A @al | L Jo@dl din dadldl d9a ¢Ind 626
T

k] mol-!| (Pacea geacsl)

(@@ : R=8.31]K 1 mol 1)

A

T Slope= —18.5
Ink \

103

T

Y

—>

Question:

Q:86
Topic Name:Chemistry-Section B

ItemCode:101656
ERIEFIS 9Q° QIRCRIEAT NAGER 6QIFANR QG 2RYER YR 628

Question:

Q:87
Topic Name: Chemistry-Section B

ItemCode:101657
4@ 6RIRIR- AEAIDR A°gR [Co,(CO)g] 68 Co-Co QRA°F 6208 “X” 9e° 287 CO A9I9 6208

“Y'1 X+Y= I

Question:

Q:88
Topic Name:Chemistry-Section B

ItemCode:101658
0.166 g @ ¥@ 68 64ldaa 2¢aIq e H,S0, 486 goqd! anl déa NaOH 296 dIeq @ldal |

Qo 699291 2I6AIRAl QuI”g 50.0 mL @ 0.5 N H,50, 66 69a geRe aqlam | 294eee 2]
Agel gaee aial 30.0 mL @ 0.25 N NaOH @0@I @@l | 689 6018060 QIR6516aqa 401°8 (%)
6208 50.0 mL |

Question:

Q:89
Topic Name:Chemistry-Section B



ItemCode: 101659
QRIS 6ITNER Q6,7 2B 6RLR A 6298

CH;3
/

O
Question: CHZCN
Q:90
Topic Name:Chemistry-Section B
ItemCode:101660

QAR YORVIR AYIY A 61 sp? A6 QI9R 23 |
H' A

2,7-R10821aR-2,6-2QIRIQ8 — e agle

Question:



